
1074THE INFORMATION CONTAINED IN THIS DRAWING IS THE SOLE PROPERTY OF 
CAPSTAN AG INC. ANY REPRODUCTION IN PART OR AS A WHOLE
WITHOUT WRITTEN PERMISSION OF CAPSTAN AG INC IS PROHIBITED

PROPRIETARY AND CONFIDENTIAL REV   ECR                DESCRIPTION                 DATE       BY

Since 1893

CAPSTAN
AG SYSTEMS, INC.

Qty

CAPSTAN AG SYSTEMS, INC.
4225 Kirklawn Ave., TOPEKA, KS 66609

QA APP

Checked

Drawn

DateName TITLE:

DWG No: REV

DescriptionPart NumberItem

A
None

SIZE

SCALE:

APPLICATION SYSTEMS FOR PROFESSIONALS

  Kit, Mount, Gateway,
 Power Hub, JD, 4630
      R 4023 Series

BLS 11/13/15

118703-007 A

1 118640-111 Mount, Gateway, Power Hub 1
2

713501-4043
713600-0034
713501-9055

A Production Release 11/13/15 BLS

6
8
8
4Bolt, Flange, 3/8-16 x 1-1/2 Lg.

Washer, Flat, 3/8
Nut, Hex, 3/8-16 w/K Lock

Mount Bar 2118640-112

713501-405 4Bolt, Flange, 3/8-16 x 4 Lg.
118155-0027 1Installation Instructions


	Sheet1

